

2.192

$$V_{AB} = 70 \text{ km/h}$$

$$V_{BA} = 50 \text{ km/h}$$

$$S_{AB} = S_{BA} \quad \triangle$$

||

$$\bar{V} = \frac{2 \cdot 350}{350 \left(\frac{1}{70} + \frac{1}{50} \right)} = \frac{700}{5+7}$$

$$\frac{700}{12} = \underline{\underline{58\frac{1}{3} \text{ km/h}}}$$

2.193

$$V_1 = 72 \text{ km/h}$$

$$S_1 = S_2$$

$$\bar{V} = 57,6 \text{ km/h}$$

$$\bar{V} = \frac{2}{\frac{1}{V_1} + \frac{1}{V_2}} \quad | \cdot 1 : \bar{V}$$

$$V_2 = ?$$

$$\frac{1}{V_2} = \frac{2}{\bar{V}} - \frac{1}{V_1} = \frac{2V_1 - \bar{V}}{\bar{V} \cdot V_1} \quad \left| - \frac{1}{V_1} \right.$$

$$V_2 = \frac{\bar{V} \cdot V_1}{2V_1 - \bar{V}}$$

$$V_2 = 48 \text{ km/h}$$

$$\frac{1}{V_1} + \frac{1}{V_2} = \frac{2}{\bar{V}} \quad | - \frac{1}{V_1}$$

$$\frac{1}{V_2} = \frac{2}{\bar{V}} - \frac{1}{V_1}$$

4.2.3 indukcja

piątek, 3 grudnia 2021 13:27

4.2.3 indukcja $m \in \mathbb{N}$

$$T: 10^m + 4^m - 2 = 3l \quad l \in \mathbb{Z}$$

$$D: T(0) \div L(0) = 0 \quad 3|0 \quad OK.$$

$$Z_k: 10^k + 4^k - 2 = 3l_2$$

$$T_{k+1} \quad 10^{k+1} + 4^{k+1} - 2 = 3l_3$$

$$D: 10^{k+1} + 4^{k+1} - 2 = \underline{10 \cdot 10^k} + \underline{4 \cdot 4^k} - 2 =$$

$$\underline{10^k} + \underline{9 \cdot 10^k} + \underline{4^k} + \underline{3 \cdot 4^k} - 2 = 3(l_2 + 3 \cdot 10^k + 4^k) \\ l_3 \in \mathbb{Z}$$

Wi.

4.1.9

$$\underline{1^3 + 2^3 + 3^3 + \dots + m^3 = (1 + 2 + 3 + \dots + m)^2 = \frac{(m+1)^2 \cdot m^1}{4}}$$

$$(1 + 2 + 3 + \dots + m)^2 = \left(\frac{(m+1) \cdot m}{2} \right)^2$$

$$L(1) = 1 = P(1) = 1 \quad \text{OK}$$

$$Z_k: 1^3 + 2^3 + \dots + k^3 = (1 + 2 + \dots + k)^2$$

$$T_{k+1}: \underbrace{1^3 + \dots + k^3}_{Z_k} + (k+1)^3 = \underbrace{(1 + \dots + k)}_a + \underbrace{(k+1)}_b = \underbrace{(1 + 2 + \dots + k)^2}_{()^2} + \underbrace{2(1 + \dots + k)(k+1)}_{+(k+1)^2}$$

$$D: \underline{(1 + 2 + \dots + k)^2} + \underline{(k+1)^3}$$

$$P_T = ()^2 + (k+1) \left(2 \left(\frac{1+2+\dots+k}{2} \right) + k+1 \right) =$$

$$= (k+1) \left(2 \cdot \frac{(1+k)k}{2} + k+1 \right)$$

$$k + k^2 + k + 1 = k^2 + 2k + 1$$

$$1 + 2 + 3 + \dots + n$$

$$n + n-1 + n-2 \dots + 2 + 1$$

$$\frac{n \cdot (n+1)}{2}$$

$$(n+1) + (n+1)$$